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) ] ) X o Example (1)
different and Application Problems 122

Apply the Doppler effect equakiof [+ (::—:':) to cab

@95y =Wl g Wlig (523Hz) Jawgll C deiidl B8 adi (JI C desidl il dodStiun I yluand! jua
§ a2 Bylead] 6 13] daadr S 31 Lo 24.6M/5 . i e 485550 Bylnss C33lal i

20°C S9\ud Bylyzell dzys O (2 A3

fs = 523Hz
Va=0m/s V-V (343 — 0)
fa = fs77——~ =523 = 564 Hz
Vs =24.6m/s (V—s) (343 — 24.6)
V=343 m/s

3353 O6'13) . dyluad! e diiadl )31 8,8Lo oloxil (g Hymxilig 7SS (9 B3 92 9ol Byl S5 lil 2 A

343m/s S9lud Cigsall de s OU Lade § danud SUI 33401 Led 365H2 . S9luw §y3Lall Ciguo

fs = 365Hz f, =365 Hz ((((‘ o
Vy=-25m/s
Ol
VS = 0 m/S vy=25.0m/s
V=343 m/s
V=V (343 + 25)

fa= fs( = = 365333 =gy = 392 H

https://t.me/+Bsnl6d0uTVthNDY8
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a9 Ll A b halondl (g A0 Byl 259 24.6M /s )i AS uw Aund Byl S5 il (o A8

343 m/s Gokud gsall & Ob ads § daowd U1 3341 e 475Hz . 63355 Gguo g9y

Vg=-24.6m/s

Vs =24.6m/s WV =V, (343 + 24.6)

fa= fs( v —7) 475(343_24.6)=548Hz

V=343 m/s

3.50 9k LIS diguo (99 Wilrge yuais 9.20 M/s 4w Gyl diolgd slndl (g dpolgd Lyl
oS ) eladl Gos g Wguall dspw O Loke § DSl (g Al Aol gl ddadiinw I 3341 e MHZ .

1482 m/s Solus Oliyol gl aud

fs=3.5 x10°Hz

razom (W VD e (1482-0)
= (V— Vs) 22 1482 - 9.2)

Vs =9.2m/s

V =1482m/s
= 3.52 x10° Hz = 3.52 MHz

https://t.me/+Bsnl6d0uTVthNDY8
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I @sall &3 s gy iy O oy o1 Asadl b ( 262H2) sl C okl B2 sk

343m/s . 9l wguall ds mw OU Leke §(277Hz) dndiyedl C dodd)

f.=262Hz
- V=V
Vy=0m/s fi=f (V - Vd)
fq =277 Hz .
V =343 m/s V,=V— fd(Vf_ Vs)

V-V 277343 -0
g SV =V 277 )
£ 262

= 18.57 = 19 m/s
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Solve problems involving the electrostatic force acting on charged particles by making use of Coulomb's Law. AppIiE;i':::r‘:t):Iems 155-155 |
A8 aed 14 Cm das Ao Caaidy -3 pC Dot elliad B (531 dgondinn 8yS (po 0yl +6 PC dioedad! I3 A 8,801 Caasing
A8 e B 8,SUI Wi I 89l Lo LA
Bl Hlude dhuw @S 8wl A BySUI Jawl 3 Cm by Ao Caapg 130 +1.5 pC Lgiionds C 46 8,5 48Ul .l .B
A 8,S3 e Blousell duasal!
ga = +6x107°C
qp = —IPONE Feor o
- ~6 o A ' ¢ o
gc = +1.5 x 1075¢C L_. _____ S LL%
45 = 0.04m \ e} * ook
‘( F
rA,C - 003 m ¢ F(B' dl:
K 8 9 x 10° N.mia®
(A)
| 4495| |6 X 1076 x 3 x 107°| .
P =K =9 x 10° =101 ~1.0x 102N &
AgeB Tap? (0.04)2 7
(B)
| qaqc| |6 x 107° x 1.5 X 107°|
F =K =9 x 10° =90 N Yl
e Tpc? (0.03)?
B = \[Fj&B + FAZ&C = J(1.0 x 102)2 + (90)2 = 135 N
= Fa -1 9
g = tan™( ) =tan (o) = 41.7 = 42° s el
Ak B 1.0 x 10

(e s
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229l lalases eyl +3.0 pPC &0 Db Galud! JUadl (3 8392 gall B Aol cduiin! i 0 pid
A e duaxall Bgall ul.c;«.ci_g dodexl|

Foet AdsC
= &I Bgall ol sy (N9 (2 WS 855001 e8]l yuolae a3
AJeB A B
L ol iy LS ) () iy A 38 e B 3,SUI A
| 138 ‘5\‘;':&\@)1\‘;5420 M}M‘E}ﬂ\
@®c

o 898l cawl 0.30 M ylies Oluslio (8 X 1074C) duzrgo Aty (—2 X 1071C) Al L

§ il GO
¢ ==2x107%C | 414 J|2x 107 x 8 x 107*|
_ 2 F=K——=9x10 -
g2 = 8% 1074C r (0.30)
¥ =i0.30m = 1.6 X 10* N wibs

K =9 % 10° N.m?/C?

e Lo 0.050 M day e &l dieds Ao 65N luiies Bgd Jii (—6 X 107°0C) ey ddl dids

f@w|w“’ |
F=Klq1§12I
g, = —6.0 X 1075C r
F=65N l
r = 0.050 m
R _Fr 65X (005002 o
K'=9x10°N.m%/C 2 K, T 9x10°x6x10-6
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Olaysl B J| ooeid! SO (o d8lunedl Jual ladis (ptoeds (b diS Ll du 1gSU1 891 asilS LS Cao

2 =9 Jalaa ey Cpfiiadl) G AdSlaal) A3y g1 3 681 (i3

s97all e (+0.60 m ) das e 2adi B 8,801 (+2 X 1070C) dieds Jaxig Jua¥) Al g a3 A 5,5
Qi B9 X yemall Je +0.80 m ddlune e 23 C 5,SU19 (—3.6 X 107°C) dieds \g29 X
A 8,1 e duamall Bgd)l au> (+4 X 107° ()

qi=+2%x1076C
gp = —3.6 X 1076C
g. = +4 x 1076C

A B =
0.60m .OZm I T”A’B =0.60m
< Tpc = 080m
0.80 m
K =9 %102 N.mA JE®
. B |quB|_9X109|2><10‘6x3.6x10‘6|_018N.
AgeB T g 2 (0.60)2 - i
|quC| |2 x 107% x 4 x 107°|
F =K =9 x 10° = —0.113 N ,lul)
ddec Tac? (0.8)2 g
Fret = Fy gt Fayec
Fpet = 0.18 — 0.113 = 0.065 N il
(les Q'}f)b\,&.i
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Aalud) Allacal) gﬁ B SJSH e dazeal! 8 9| !

Fgien=—018N sl
| g5qc¢| 3.6 X 1076 x 4 x 107°|
F =K =9 x10° =3.24N
BJsC 52 (0.2)2 o)
Fret = Fp jea T Fpgec
E.. = =018+ 324 = 3.06 = 3.1 Neyyasl

les P el )
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Example (3)

Apply the relationship between work, electric potential and charge to solve numerical problems Application Problems i

ouiduall dl:»).@Sﬂ Jlxall Hlude tLug 1.5 cm 49luwe laguans (e (A0 goeiio o)l ghe S Jad
1800 N/C

izl o QLS dgmdl @y9 b LA
duz> gall doerisall JI Adlud!l dowisall (e O939 5 et )W Jiwd! o>l LB

E = 1800 N/C
1 d =0015m
> s 35= 1.602 x 10-1°¢C
|

(A)
AV = E.d.= 1800 X 0.015 =27 V

(B)
m) W =AV.qg =27 x1.602x1071° =43 x10718]

<=

1.5V Solug QU5aS dg Byd UM 3.0 C ahS Doty whoyontd Jgduod! Jaidl ylutiio Lo

W=AV.xq =15%x3=45]

(i oy Min]

& 0509886279



12 JSE B s gall Gadandd) O (b 4Sl) Jlaall o Ls

ol o o e o AV = 5.0 x10%V
I AV =5.00x102V d=0.024m
2.4lcm
= 12 Jsd
AV 5.0 x10? \
S Rl e 21 X10°N/L

A Jodaal) Jadd) laka Lad (18000V) ol 3 (88 PR andd (903l 5 ) gud gl (B 09 A
€13 gl (38 A o g e p L g S

AV = 18000 V
g, = 1.602 x 10719¢C

W=AVXqg" =1.602% 1077 % 18000 =29 % 10713 ]
Alesa g9 dhatl Jodall Jail) jlaka La 4.5 X 105N /C e A Cilaseall Jaza (B (AL <l Jlaal)
¢ Jaal) 138 JMA25 cm
E=45x10°N/C

iy = LE0E > A0~

W=AVXg' =EXd¥Xg =45 x10°%x025%x1.602x 1072 =1.8% 107'*]

0509886279 10 J
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e le 1,44 X 10° C.o )k diadi (3583 () ALalS 5 ey A ganidiay ((12V)  aag B buen Ay sl (S
¢ Lghad Bale) ) zliad o Jad Ay jUaud) B3 () (Say ) Jadd)

AV =12V

— Vo= 6 = 7
ge = 144 x 106 C W=AV.Xxq =144x10°x12=17x107]

State Ohm’s law and apply it to simple circuits (AV=RI) 201

I Determine the magnitude of the current in terms of the rate of flow of electric charge (I=q/t) A3 loned indhe Sixtbook 196

Bas gl ANl 8 4l el Adail) (3805 Jana 1] Al sl L) o
C/S 4l JS aglsS (ASig A4 ¥l il Bad (ulli o
Jaga Ao g die Ll WAL AN dailaal) 1da gliall o

2 (38 oo Il b sl il Balal) o) (ol dBle) 368 A ) o

Ay j Adauidl ; & S T SRR “« w
™ gl gl Ll e sgad) (458 Aaud @il A 1 R daglial) o
\ \ 0 as¥) Baa g R dagliall (i o

[ = A=C/S Jua gal) A glia Lgale aaind ) Jal gal)
/‘ sl g 5501
| X | L3 1 3 : o pal ke 2

ik G 2,88 K polst By _h
R, L

dwSe A8le 1 dia gall ahate dalus 3
Ry A,

sl _
p o Y = R, A

\ I L,k ddde 13 ) mllda 0 4

Al (les Q)f ? M pee |

@7 0509886279




0.50 A 4iadi 1t 4l e Ll 4SS 2 6.0 V Raga 4yt 293

¢ jaall Alal ol 5480 La A
4l dlua) o) Axily yg<l) ABUAY) )3k Ay aS 5.0 min el & jaal) Jida &3 031 B

AV = 6.0V A
1=050A4 P=AVXI=60x0.50=30W
t=5X60s

B

E=Pxt=3x5x60=900]

B a5 A LaS o e s 12V 0 )ahe g (3R g g S Tl (o) e Ly S LS Bl g g S
Sz lsnaall Lgadiiiny ) 5080 L 40

12v
+

—
P

AV =120V
I=20A4

2I00A=—>

P=AVXI=12%x2=24W

€125V 24 @k Jany Al S Gudllay Jualia 75 W A8 rlaaa o s o) LD Badi La

AV =125V P 75
P=75W I‘N‘E‘O'M
(L&Q'}t’)\,\,&.i
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L 125V odga 100 7 A (AL S il 48 b e Judlia AL S zlaan 1o a1 .50 A A8 AL ¢S LS
¢ 5 i ) (Al gsll ABall Fluaall Oyt Jara 2

AV =125V

= = X 0. = A=
I =050 A P=AVXI=12bX050 =625= 63 W

Calgall dniiy o ey M) Ll Ay oS 3,0 KW Al A S 5,8 75V Alge i

AV =75V P 30x10°
P=30x103W =Bl oo a 04

g S | il A5 ¢ gl plaaa e L nan g e e 3l (38 el UM daiig b il
¢ & jaal) 5,08 pas ) elld

6 Jalaall laiay Auily g <) 5 81 a3

Al o Juasi B 12.5Q W8 dagliay el S5 60.0V Ay Ao Jaids 5,500 Uakadia e )
Dl olai) ) 8 LU Jabadial) B agud an ),

K =144}
VAR

_

® |
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daglasg 45V Laags ap)las nd 350 dadases payl
oD arged! Al ) a0y Slal Lo dlase Y1 slea !

. ,Ua!

Slaglaadl 5,ds G syl 3,8 el aealyall jles al
\_\.:.ul.....“ J..JL.A..-J‘ U'S

[ =85 mA

(e 7 ey |
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.(.;nl.'....ugg)' Ag>= 50y Tlhoaass & Uas Pl..\_'hh-——ll.l 3,50 paw ) .1

(AE:.) PR C)Lé)\

) i rlisey thess falan ol

M) g daskaad) Atet) 558 Tbjaiiond dilane 12
Tlhad) e asalaig el Sl
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Define electric field strength as the electric force exerted per unit charge and measured in N/C As mentioned in the textbook

167 I

¢l Sl Jlaally 3 peciall L @
A gl 8 g8l U Lgud 4edi g Al gl Adadilly daaal) dBbiial) o

Lgadia 5 Al plual o 3 8 Jhuy () gadia pus Ja 18N Gailiad (e dpald s 9) o

Jaal) ddktia
Aadly Al
Al gl

AWM R,

Jhaall sladl E—

3Rl 5 g slad F —
A Al S

L
Al )

JLEay) s

2392 (6 ARSI (3 4k aa g g 8 puili Ay dliSay (S AL Sl Jlaall Ay diSas Y o

fe Al Sl Jlaal) 35 g (o RESH Aa ga B e LIRS Adadi padil @

Al 3 pall Jlaall olad) g) Jlaka o Y s
a8 3 figall duily <1 58l dlasa g4 1 E Abgs)) Jlaall 305 @

DAY dad jlaka o da guda b piua LG4

Gua AN ClBad) gaaly Al Sl Jlaall 3ad ual o
N/C @ oy Al gsl Jaadl 3G F
LAY Aa 83 figall 348l Adaaa o
DL Al g/

polss il K om
Jlaall dvuscal) Adail) q "
Jlaall duscal) ddaull) g LOAY) Adad s A8lsal) 72w

e A e LA Adad 353 9 @k Jlaal) slad) sa¥ o
1y oie olay) dlay) 3 jall guda gal

5 jiipall 3 g8l sl (i B Jlaall olad) (98 ®

|

4 gal) LAY Ain B

F—
F—

E —

Ol BaY e

A ga Adad 4y sais olad¥) dlag) 31 gal) gudagall S 1Y o

+—— F ¢
&—
+——E

Sl (sudl (B g 5 fisal 5 581 g Jlanall (i

dgaedall A2
Jaad A
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(’).E.I) /.;Ln.“ q,'oé)\
€4.2x1070C W _)ake 4dali Aiad (0 1.2 m A8las o 2B ga B Al <)) Jlaal) laia La
q=42x107°C Kq 9x10°x4.2x107°

|
r=12m r? (1.2)"
K =9 x 10° N.m2/C?

= 2.6 x 10*N/C

La . g 9Sh) anead) olaily 450 N/C iud 598 pesd 8 0.25m A8lsa dy o) (il g8l Jlaal) 30 gl
¢ 598 aad) 83 fgall Aiadl) laka

E = 450 N/C
r=025m E.r2 540 x (0.25)2 i

7= bk = . = _31x107°N/C
K = 9 x 107 N.m?/C? K 9% 10

};.'v JIA.AM b\;ﬂ\ uy 4.1.“...» aasil
S5 8

e (b LEAY) Aald adie adal O o (Al (42.4x1070C) el ail) (e Adlacal) S
£360 N/C Jaal)

E =360N/C
qg=+2.4x%1075C

K =9 x 10° N.m?/C?
gl _ |24X107° X 9K 107

= 7.7
E 360 i

r=

L 17 0509886279



ki) Al vie Jlaal) 3929 06 CRESY dliCay (S, Jia A Akl e AL ) Jlaall Gl dlia Gl 45) (i 38
¢ LAY Adad UAS (i S laall Jlaia aas SliCay (i

N ol 5 85058 allin o€ 180 e Sans, 0] o8 st LAY il i 5
Ol ks G o

LAY dind ltie e LAY ind 3535l 558 ke adl o
Jloall 3] gall i Bl jlatay 45 Hlae Alall 3 paaa S5 ) e Y HLEAYI Al @

Jiaall e la, G401 40l 1,50 X 1073 N &3 48 a2 2,40x10° C )ty dua gal) JLAAY) ddn
¢ LAY ad adga B (AL S

F=30x1072N

. F 150x1073
q=+24x10"8C E=—=———=6.25X10*N/C & 4
i /| Rvhy>slbi§ el

Identify electric field as a vector quantity and describe the electric field lines as lines of force whose direction at any point is
the tangent drawn to a field at that point

As mentioned in the textbook

166-167

QLRSI Jlxall b glas aluseiwl &b yeSI Y lrall Juiad oy
dad) wie daxgo YUl L 38,5501 Bgdll oLl el duadg oglas (B 3Lyl Jlomall bglas o
3UyeS)! Jlxall boglas (ailas o

g Ny | qqdss Jaa bski s N,

__N_z qzdﬁdh.-‘l‘h‘ghins[vz &bLn.u)) .
Gioedd) ko g by Jlomall bghas 35 Canslily ©

P adatill ulaal) h Jlradl ol duow dadl wis wlead! ©
Jlaall olad) saay _& —
LS
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Describe how an object becomes charged by the gain or loss of electrons and describe charging by friction. As ioned in the textbook 147 I

UL il

Catd 99V — Sl = i)l o disyhall b il Slgall e oy
Ol Bguall — B!yl —

8oLl iy Hgldally ) Cas gl 9 Zlaill Jio i)l el oy 0
Bl W el Wl Ggi> wis (aSIIWL ) Bgually yymdl Jie dduall pd
S5 edus e @lig AS) 3 (s gty SV domls doyly>
P g g ASU] Ui 13 A g dizedin Ogmdus o> Zraadd
iz (gglud I Ly g yS) oS AY Adls izmliy Ogoedns
ol 3 Ledls LSy 2 gl

Find the capacitance of a capacitor and the work done to charge the capacitor from a charge versus potential As foned In the e
difference graph. 181

$ 98D ) A (5 gt Latie 76 V (s sbeis g V) 9 G gasia (598 paid O (g gl (58
foa g g9l amal) s Jlaal) da (s gludi 2883 8% 10 C

g=38x10"*C e _ 3.8x107*
AV = 76V AV 76

pLes o el
0509886279




gl (A1 A4S (Sl aa g 7 o (B A Al Adaldl) daS AU Slud) an ) Jiay o
thil) Jua Jia e o
Sl dew e o
€Al i) i dalual) Jidd 13 o
SLEiSal) A (CiiSal) ikl o DU Jrdd) ) 4G Jaal) dBUal) lasa b o

sl (gt 3.2 - o) i S A il )l Jon iy ©
ositunel! Jasell oo owzes O
-6
15 - JMM=q=(15—10)><10
8 [T dee?l [ T AV 30 — 20
2 10 e
o il = 5 x 1077 F
°; 10 ’ 2;, 430 7 Sl g & pasead! A3Uall Ll Jasell Jaul dlunedl Jid ©
AV (V) ' el Jauol A>luadl Ol psdd o

1
A=PEW) =5.q.4V

1
A:PE(U)=§x20x10-6x40=4x10‘41

Define loudness and relate it to the amplitude of a sound wave As mentioned in the textbook
119

S bl S guall Buds datialg ¢f Lodd! W g O3YI gS)uS (1 guall duols (B toguall BAd
O guadl Bl 31035 il guad! do goll daww W3[5 LolS O Cun i guall A g daw

Axgall @ Jassall paid polidie (P dadl o

ol Bu99 ciguall (Sgiume (o (£EUES ulidie ST) iyl gl pulilie e Sguall Buds (uliS ©
dB Jaraws (B o gudo ASYI Ciguall (S giuune

o9 ds gaunadl Sl g0 Carsdl duusd J) Emo &G940 drge By daud (S iguall (Sgums dadiny O
0dB Lic Cig0 Caas

0ylkie i gaall (Ggiuus (§ BAL) IS lde JUinl 10 ey (i guall Bli) wguall Jadys Ggiuns 3103 o
20dB
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o {110dB) L-lo Jax (§ £ gaunall Ligall Jakd S gima B} L";\Jl Gyl sue oS 1 J0s
9 (50dB) dls d&slos

110-50

1000 inp = 10° = 107 20 = Boby)l ylhie
d8,3 e yoLall Ogall hiys L_g 83L3I Hlade L 80dB ol gius L guaas ..Lawd.&uu}o 48,9 : s

1200dB 5)ud Ciguo (S giun Xie 325 (5,3 duduwngo

120-80

100 iep = 10% = 107 20 =Lyl Hlude

I Explain the Doppler Effect. As ioned in the book 120

Lo gl CBlpadl 9f Ciguall yuuas Ay ddas I Cguall 3045 (g sl a3l ylgo AT Lo ya
Sl J&S Blyelly yanll o dilarell § Ol gall QHUS (Sl 810 olaxll § yanll dyad dis o
M| adad 115 de !l L) D21 S1339 (3~90)!
(dawg)!
S ©lrgall delldli (Sl e (48 Iy sianll 2y s o
3301 Jisg (3gall Jglall 138 CBlyelly yduaell v ddlaiell
(Jasw gl M puad 115 de puudl il )
AU AWl (pe A guaadl A godl D345 (3 Cdlodl sl Ol S

B 31,11

fa=f V—-Vqa)
W -y

ASgall dglldsm VO

Ogall juuaed dgindl el Vs o
gl o VI Sl de IV ©
saell (o Bagall dzgall 335 fo o

Sl pall daou I D3I ;O

gl g Hojel
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Relate the wavelength, frequency, and the speed of a sound wave by the equation As mentioned in the textbok

118

aSé 1.1 m Apliial) s Ll Adlucal) CiilS g, 40 g8 (Gl yuo GBI 13) 4700 Hz W23 5 4 g 4a 5a
¢ da gall Ao Wi

A=11m f
f = 4700 Hz
v=Af=11x%x4700=5170m/s

¢ ol o) B Cigal) 335 Ay oS 3.5 mm s sbew QR LRkl ) A pual) Cila gall o gall Jghall (IS 1Y)

}\_U
) i
A=35%x10"3m
v= 343m/s v 343 kA g
=l\= =0lg X
S =330 d

I State and demonstrate that unlike charges attract and like charges repel. As mentioned in the textbok

Ol ad) §1g51 2=
dus-ge 0955 ol Al Az lJl OS5 Ol Wl ©
3l daliseall Cloeddls JBUSS Agalidadl Ciboe Al O

as ladd uslg das & a5 1I3led aud Jud Sad (3 2
T o Al ame 3G Lo tadua

———
-

u das 301 Lasos dme HBUG G ladiadl disel £95 i 4 B Jas A1
——, - MQM@MLM;MM&.MMT

Tonlas Al & £95 Lad - Adle Jaduadl dased O Caale 131 <3
Al dsoe s Jases B las A1

dumgo Aioeds Jase T las &1

0509886279 ]
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I Distinguish between electrical conductors and insulators giving typical examples. As mentioned in Example 2 |
148

gty o galt
% ¥ S N PN
s ¥ g & g 4508 it WSS JAT5 1 dlgall p @
4 Cadlyzell 5 LayMdlg izl pgaralilly el Jio
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Explain the process of charging by induction. As mentioned in the textbook
161-162
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As mentioned in the textbook
170-171
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